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fall 2022 Ex1, 5

3
David is trying to make the perfect cup of tea. He, somehon knows how to pour the sugar at a rate of §'(f) =

grams per second into the tea. The tea will be perfect

when there are exactly 10 grams of sugar. For how many seconds should David pour the sugar? Note that there are initially zero grams of sugar in the tea.
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A faucet is turned on at 9:00am and water starts to flow into a tank at the rate of:

() = 12

where ¢ is time in hours after 9:00am and the rate (t) is in cubic feet per hour.

How many hours after 9:00am will there be 216 cubic feet of water in the tank?
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